Attachment 10

Block Venn Diagram:  Key





  A. Craftsman                                        Both:  A & B 


 B.  Assembly Line
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Slower Production


_____________________________








Lower Labor costs


_____________________________








Pride in making the complete individual product


_____________________________
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Produce Goods


  __________________________








Fulfills a need in society   ___________________________
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Faster Production


______________________________








Higher Labor Costs


______________________________











A product is made by many people.


______________________________
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______________________________


















































What is the Big Idea?





  One problem of the Industrial Revolution was an increased need for goods.  Henry Ford’s idea to produce goods on an assembly    


  was adapted to many products including the pottery industry.  Pottery was made quicker and cheaper than when made by a 


  craftsman potter in a studio.  Problems drive innovation.  New technology changes people’s lives.











Summit County ESC:  http://cybersummit.org American History Grant 2010-11                           
5-18-11

All copyrights are reserved.

